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| 7TFa—(hED) e S) 0% 840.00

20k A (L EN/INE) PP 5 (BR) 0% 1,125.00

S| T (B)=2—URMN S 745.00

4|xH5B () R\ & kg 1,700.00

5IARL 1943 FLIR =575 5 (%) kg 345.00

6|7 LT FLIR =5 5 (BK) b4 4.40

7|k (Fﬁ):—vﬁuu kg 1,560.00

8| T REZAL FLIR =505 3 (BR) kg 1,800.00

9Bl (Hﬁ)*ﬂﬂz kg 138.00
1ojLot (BK) Al kg 448.00
=< FLIR =5 7 R (BR) kg 550.00
12[72v B (Bk) 7 o aa Rig/KiE kg 2,970.00
13| =—L%= LR =575 R (BR) kg 400.00
14| RAR3E FLIR =557 5 (1) kg 670.00
15|91 ENCA LA FLIR =55 & (%) kg 370.00
16| M= — A D3 (Fﬁ):z~’7ﬁun kg 598.00
17| B CTADFE H A2 100 (1K) {E] 159.00
18|HUB (Bk) 7 voaa Rig/KE kg 1,430.00
19|45 BRALETE H ARSI B (BR) ] 47.00
20[1EH LA FLIR =557 5 (1) kg 945.00
21| A\ FLIR =55 75 R (BF) kg 145.00
22125 FLIR =57 5 () kg 1,350.00
Rl IEES FLIR =55 75 R (BR) kg 120.00
24[F v~ FLIR =557 3 () kg 115.00
25[LHFA FLIR =55 & () kg 390.00
26[7°5 FLIR =55 3 () kg 445.00
27 KAR FLIR =5 5 (%) kg 88.00
28[7 T 1y FLIR = 5075 5 (%) kg 2,350.00
29[21FH FLIR =5 5 (%) kg 167.00
30| EA FLIR = %%%(Eﬁ) kg 448.00
31| E# (Ek)*ﬂ@z kg 98.00
32tz izl LR =55 (FK) kg 420.00
33[ K FLIRE = ”‘i (BR) kg 495.00
34| hn1- FLIE = %%E%(EE) kg 545.00
35| =1 (H%)#ﬂ@z kg 850.00
36[2=F~h FLIR =5 (¥K) kg 1,200.00
37|/ A3 FLIR = ”UE (BR) kg 600.00
38| ADHE FLIR = % (FK) kg 1,800.00
39| AEMEE FLIR =505 5 (BKF) kg 920.00
40| DEE FLIR =557 2R (BR) kg 350.00
41 Az FLIR =50 5 (%) kg 460.00
42773 FLIR = 5575 5 (k) kg 350.00
43| T ALY FLIR = ”uz (BR) kg 385.00
44 (B FLIR %%5 (FK) kg 640.00
45737 FLIR =557 5 (1) kg 285.00
46|/ SA T T L FLIE =5 7 58 (BR) kg 195.00
47| A T — FLIR =557 5 (1) kg 670.00
A8 [T (f )n—vﬁuu kg 975.00
49|41 b B —b (BK) kg 2,380.00
50 KL H o B —b (k) kg 1,080.00
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51|7 LK b B —b (k) kg 1,800.00
SR —a o B —b (BE) kg 1,680.00
53|&1TB () R\ & kg 2,800.00
54|50 A () IR )\ kg 1,200.00
55|.50B (Bk) 7 vaa Rig/KE kg 1,200.00
56|V T e G () IR\ % 1,300.00
57| < I (F)za—URMm kg 1,550.00
58|75 L HE Sl (B)=2—URMN kg 446.00
9| R FLIR =5 5 (BK) kg 470.00
60/13H 4> F) =2V A 430.00
FIERE o H AR/ (BR) A 1,013.00
62| X RB DT (B)=2—URMN N 355.00
63[f T —X H ARS8 £ (BR) %N 313.00
64 [ HUEBEIP (F)a—URih 43 640.00
65| KL HLIEYIV A o B —b (BK) kg 1,000.00
66| /A AN HPEERL YT H A3 B0 (1K) N 619.00
67|HLNEY AL ) — b B —b (k) kg 1,280.00
68|F 7L YA FLIR =55 & (%) kg 440.00
69| A A H AR E B (BR) {E] 33.00
NESneays FLIR =55 75 SR (BR) kg 245.00
T A ZAKE FLIR =557 5 (1) kg 470.00
720 A (BF) 7 a o KAG K pE kg 1,300.00
3|\ EA =T — H AR/ (BR) 43 582.00
T4|BfFETeE O () IR\ & kg 6,800.00
754 B LB H A% E B0 (BK) 4% 550.00
iz EES I P = (1K) 18 600.00
W ES=E (B)=2—URMN 1 61.00
78|V X (B Al kg 960.00
79|DFema— L1 (— ) B oL = AL S 2T 1 98.00
80| 50U FLIR =5 5 (%) kg 370.00
81| IHAE— 7 —F (B)=2—URMN kg 6,920.00
82(Z1FH T F H AR EE £ in (BR) kg 795.00
83| —~ FLIR = 5575 5 (%) kg 945.00
84— Ly (F)=—UMm {E] 68.00
85| XL AZ AN %< (B Al kg 314.00
86|fE7L—7 (F)za—URMm {E] 786.00
874V —"7"1H (BF) & =& N 1,500.00
88| VATHAL A 7 —% (F)za—URMm {E] 670.00
89|V FaRL T H A2 B0 (BK) N 625.00
90 |4t FLIR =55 5 () kg 445.00
91| 4 HFA E (B)=2—URMN 13 220.00
92[wit —~r FLIR =505 5 (BKF) kg 945.00
93[ k3 FLIR =5 F R (BK) kg 780.00
94|4¢ I FLIR =50 5 (%) kg 430.00
95|\ B (BR) 7 v aa K&K E kg 1,380.00
96| MIEHYTH H AR E &0 (BR) 1 959.00
97Ky e — A A b B —b (BK) kg 1,530.00
98| 4F 7Y (— ) Bl AL S {E] 55.00
99|V AR T A — X T A A H AR £2dn (BK) iK% 1,203.00
100) 5 =4 FLIE =275 3 (BK) kg 145.00
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101|HEZER LR =57 5 (BR) kg 1,240.00
102| FEVNV=i T FLIR =557 5 () kg 850.00
103|V—71L %A FLIRE = 2575 5 (k) kg 400.00
104|242 — 2D A b BX—h () kg 6,800.00
RINESSS (F)za—URMm Gt 614.00
106|722 L E bbb A b B —1 (BK) kg 1,430.00
107/ H L C A H AR E &0 (BR) kg 663.00
108|721 C (Bk) 7 vvaa KiG/KE kg 2,970.00
109|~RF AL —D & Y s (BR) N 1,200.00
110 B B R J5E 78 H A% H Bdh (BK) S 533.00
11| EEE KU 2V H AR &0 (BR) & 62.00
12| EJE L) FE H AR/ 0L (BF) S 507.00
L3[BT Ao 50T L —2 A B | B A=A (BF) 1 647.00
114)/FFLE R DT (BK) ‘& L& 13 975.00
15| HHELH P — (B —F) (BR) & b 0% 400.00
116|367 A Y — A (A)a—UfM 13 1,330.00
1178872 1A T A () IR )\E kg 3,600.00
18| fkiEDB (Bk) 7 vvaa Kig/KpE kg 1,380.00
119]1H9°< (Bk) 7 Vo aa Rig/KiE kg 790.00
120|FCZERL v (BR) & L& Z 510.00
121|BF 7V D5 (BR) & L& 43 1,250.00
122| e X AR B FLIR =5 7 58 (BR) kg 1,100.00
1233 LALEY i A GS) 43 1,600.00
124|585 e A AT —F% b FI—h(#K) e 95.00
125|728 & H KA U P = (BR) 4% 1,300.00
126|487 Er5 2l (Fk) & -85 N 860.00
L27|K e — AR~ b E R —b (k) e 148.00
128|737 T LAk} (B)a—URMm {E] 83.00
129|777 N Fr sy by 2 — A (— W) Bl = ALIR S5 P 1l 78.00
130| 7 e _T a7k PP (BR) = 850.00
131|=—b— T AR ()2 —U &M 1 83.00
132| BRI X A A E)E (F)za—URMm 1 800.00
13B3[FHEHLERAT —FH b BX—h () e 120.00
134| By 7P —D 3 (Ahm Y —) H AR E &0 (BR) = 750.00
135|717 BY)—0DF (V3AF 7)) H AR H B (BK) 43 750.00
136| S S FHT (F)za—URMm kg 855.00
137|337 DFE (A Y —) A ARE B (BR) 1= 807.00
138| 7 BV—DF (A1) H AR E &0 (BR) 13 750.00
1398 [E A 2V R Ly s (BR) & £ N 810.00
140/ HUsES H DX A1 H AR E /& (BR) s 237.00
141|595 % KA LR =5 75 8 (BR) kg 466.00
142| N~ A= DFH (B) ‘& L5 15 1,250.00
43| ISAE (A) IR )\ & kg 1,800.00
144\ RARA T A7) — I H AR/ (BR) {E] 256.00
1453 U BEERIE A (A) IR )\ & kg 1,800.00
146|H U BEIKEDB (Bk) 7 voaa Rig/KE kg 1,800.00
147| A=Kt (q)=2—URM 13 377.00
148|519 FLIR =50 5 (%) kg 850.00
149| U A3y maﬁuﬁ (¥k) kg 98.00
150| A—2 A FLIR =575 5 (%) kg 130.00
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151 =—v R — R —= W e (BF) /N 1,725.00
152 L L LI B Akt U P = (1K) {E] 85.00
153/ B EL E 1) KIS EEFITEA () =—Ufdh e 179.00
154 A7 (B)=2—URM 1 190.00
155\ — 2L 2T A 2 b BI—k(BE) kg 1,480.00
156[/EL X9kt () a—URh 13 466.00
157/ NET- )AL AEZE (F)za—URMm 13 290.00
158 /NS E AR (B)=2—URMN S 141.00
159| &0 F FLIE =575 5 (BR) kg 240.00
160| 7V —2 T AT T A (Bk) Kl kg 2,140.00
161{LALDL FLIR =557 5 (1) kg 720.00
162| R B L (— ) Bl = ALIR S5 P 1 95.00
163|F~¥ 2 —L —3F (F)a—UR M & 265.00
64| Rt () a—Ua 5, ZN 260.00
165| AT HATAAT — R (— ) Bl i AL S e 55.00
166|/ME LT & (q)=2—URM 13 132.00
167 | B/ NEEE H AR/ 0 (BR) 13 750.00
168 [JRE - H> ()= —URMm 13 330.00
169187 L —_Y— Y — & (F)2—UR M 43 478.00
170]7 =ikt () 2—U R P 440.00
1717 FART =V H AR/ (BR) 43 588.00
17258 S b ol (BR) 7 v aa K&K E s 1,280.00
173|2—b—PV—3Iy 72D A GS) o 1,910.00
174 LD B EE H AR SRR £ (BR) P 738.00
175| B3 H A% E B0 (BK) kg 104.00
176 /N B — H AR E &dh (BR) & 26.00
177|720 EF D3 % (B)=2—URMN 0% 19.00
178|720 BB o — L A—7 (BK) B A FLIR = SEPT {E] 112.00
179\ EIEI VA EL H AR H B0 (BK) kg 750.00
180~ b ARk — (F)=a—URMm {E 188.00
1817 VTR =Ryt —H— (k) & A FLIR = ST 1 125.00
182|4+EL b B —1 () kg 9,200.00
183 | e LI A fkk (F)a—URih N 368.00
184 KE3— B)=—UEM 1A 185.00




